Дано 
                                                                 Решение.
W(С) = 80%                                 W(Э) = n Ar (Э) 100% / Mr в-ва.
 W(Н) = 20%                               n = W(Э)* Mr (СхНу) / Ar (Э)* 100%

D (H2) = 15                                 Mr (СхНу) = 2 D (H2) = 2 * 15 =30

СхНу- ?                                     х = 80% * 30 / 12 *100% = 2

                                                   У = 20% * 30 / 1 *100% = 6
                                              Ответ: С2 Н6
